Management is concerned with the of policies.

(A) implementation (B) planning

(C)  examination (D) development
Cuenamento ererLigl ClsmaTanseami G LD.

A paoLepopubsgsD B)  Hliupsgsd
©) uflesliLBEHISO (D) Cwbupsgise

The dispute arising out of ESI is appealed at .
(A) Magistrate Court (B) Session Court

(C)  High Court (D) E.IL Court
Qamleomart FL(Hmid sL S S&rmm UL LT 6ThIE, (pemuliL_aomib?

(A)  pOeua HHanpLd B)  sdpeilue Bdwemib
(C) 2w fHweamd D) rFlpmnd BHwearnid

Face to face oral examination for a candidate is called

(A)  Discussion (B) Interview

(C)  Diagnosis (D) Test

Wa&55H Crir BLEGD eumiely Carey BLSgieug) ereriLI(HILD.
A)  efleurgd B) Cwigranred

(C)  ufiGsrgemer (D) Csrray

Employee undergoing stress may come out of their problem by

(A)  coordination (B) development

(C)  selling (D) counselling

DG D (LPSHLD 2_GTaT (T 2eridlwianty agﬁmwﬁ@ﬂ@ﬁg Qeuefl&Q s ey QELIWeTLD.
Q)  emrdmaTiiy (B) Guwwbur@

(©)  pueen D) sebgeTLIT D

Certain conditions and promises in the Contract of Insurance is

(A)  Guarantees (B) Warranties
(C) Terms (D) Conditions
sTUSH @uubssde o drear o Hlubsamersdr wHmib 2 m6wrlsmar GTUTGVITLD.
Q)  Hwumrpenrg (B) eumyewrig
C)  EduysEr D)  Hubsemanger
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6. A condition that the property would pass on to a buyer on full payment of price and
execution of sale deed is

(A) Sale (B) Agreement to sale

(C)  Hire purchase (D) Sale for approval

aumdigueur  Gummafler/pevdluflenr  wprp  levoverws  CeausHledil (B,  devgw  @ULBSLD
BanL_(peppUIHSS W 1T <y evdludler 2 Meno IHDHLD eTerLg)

A)  pueer (B) &lpuemer 2 L aLigdens
(C)  souemanr QameTupged D) Uz alpLemer
7. In an auction sale, the seller appoints more than one bidder, the sale is
(A void (B) voidable
(C)  conditional (D) 1illegal
@@ ge alpuamenid, eflpumeargtym amis@n CoHul L gosmramy Hussmo ibs ellbLamer
G LD.
A)  QeegyLig (B) Qeoeszsrsg
(C)  Bunbseerer (D) &l ypbureang
8. The process by which a 3" party persuades disputants to come to an amicable adjustment
(A)  Arbitrator (B) Collective bargain
(C)  Conciliation (D) Execution
o3 aulflalanasuded @ meurlan Lpssanamuied epemmmid LT Saeudll () FLTSTED ClFuiemT?
A)  BOeur smeur (B) Gsipg uer_omhm)
C) QoarssliLhso D) peLpapLBSSD
9. The rate of subsistence allowance paid to an employee under suspension for first 90 days
A)  70% B) 50%
C) 60% D) 40%
e eafui uamillar Bsss5dd @mBsTd Wse 90 Bl g6 adgmer sseldgn GAapliduib
QULOMISLILI(HLD?
A 70% B) 50%
C) 60% D) 40%
10. Gratuity is payable to person who has rendered service of years.
A 5 B) 3
< 2 D) 1
GRI au@pLmigeT LanflLflibsre Lamilsbaren Cum g@Hwndmm.
A b B 3
< 2 D) 1
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11.

12.

13.

14.

What is the percentage of minimum bonus payable?

A  7.33% B) 9.33%
(C) 8.33% (D) 6.33%
Wens cardlu s 1L UL GenbsUL s Wans cardluib eardsanen s5ellSlFn?
@A)  7.33% B) 9.33%
(C) 8.33% (D) 6.33%

A person who is directed to pay the amount of bill of exchange is known as

(A)  Drawer (B) Payee

(C) Drawee (D) Creditor
wrHMEE g6 epeld Qgmens QsmHEs Couarly LianlldEsliuBueu

(A wewrd er(hlinieu (B) Qogysguieur
(C) Qasr@uueur D) sLaBCpmT

In case of dishonour of cheque for insufficient fund the punishment liable to be extended for

imprisonment.
(A) 3 months (B) 6 months
(C) 9 months (D) 1year

Curdlwu ueardldeors smamssme sTCsrae Smuulu@L CUTg FSaTLmariTs
Slanm senT_ener e9lgl&sL I _emb.

Q) 3 wrgmser (B) 6 wrsmiser

(C) 9 wrgmser (D) @ eu@HLLD

A negotiable instrument should be presented for payment to the party who is
(A)  primarily liable

(B)  secondarily liable

(C)  willing to make payment

(D)  capable to make payment

e Ceoreianfl (ple| Larbd QumeugnHaETs wilLib GasrhssiiuL. Geuem(HLb?

A) wseaew QarHriu@ueur

B @rerLmd Asr@uu@uert

(C)  QsrhHur elenpueur

D) Qar®és sngweur
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15. Which of the following is not a material alteration?

(A)  Alteration of date (B) Alteration of amount
(C)  Alteration of time of pay (D) Correcting clerical mistake
Epeu(meuareudmIET 6Tg QUITHETUL WIHOLD A &TE?
A)  Csd wrHod (B) Qgmens wrHmid
(C) QsrHu@b Corb wrHmLD (D)  erpsgl Genp LIHMLD
16. Payment of a Negotiable Instrument becomes due .
(A) at maturity (B) before maturity
(C)  after maturity (D) on 3 day of maturity
Qeeomeuantl wpdle| eriCung LaTOTESILIHID?
@A)  dreuenuwyb Cumg B)  @wdlieuenLwjid (et
C) wdreuemoysg Yer (D)  dlredlen 3-1b HreT
17. In case of rate of interest is not specified the interest payable is calculated at
A 6% B) 18%
©) 12% D) 9%
eTBg Crimelleh eully alldlsd @O UL aleane ereafled el ly 6THS elllFSHled SammadLL{HLD?
A 6% B) 18%
©) 12% D) 9%
18. The task of linking the various activities of an enterprise is called
(A)  Cooperation (B) Delegation
(C)  Coordination (D) Administration
@ Hnelagdlen mansgieils bLellysamasamariib emCsT enaulilg)
A el (Ooey B) ureueTEsD
C)  emrdameanTiiy (D)  Hreursbd
19. Decision does not arise under condition of .
(A)  certainty (B) uncertainty
(C)  usual activities D) risk
aThs Hlaneuiled Sreajser CoeneuliiLmg)?
A)  Bape Asfbs Cung B) #Hswpey sflurs Gurg)
(C)  auremu pLeigsamsulern Curg D) @Lrflevaulded
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20.

21.

22.

23.

(A)  Authority

(B)  Answerability
(C)  Duty

(D)  Responsibility

eranigy QummilifenLenoCw.
A) @fsmb

B)  udlé smid Hlenew

©) sLow

(D)  Qummyiiy

is the equivalent of accountability.

Performance appraisal is also known as rating.
(A)  demerit (B) fatigue

(C)  merit (D) satisfaction
Fmer HULEH eremuled QamereriuRI.

A)  Swu@emrhiger B) b

© (&ERTTBISET (D) Hmud

To know the BEP in terms of units,

(A)  fixed cost B)
(C) payable cost (D)
@@ Sjodler ruBLL LSl Hlanay bl

must be divided by per unit contribution.
total cost
production cost

Geuair(hid.
Q)  Bleveowmen GFaway B)
(C) Qeanss Couanrigw Qe (D)

MW @I @G LBRSIILTD euEGEs

Qwrsg ey
2 HUSH DFawey

The probable business opportunity is
(A)  delicensing

(B)  falling demand

(C)  import restriction

(D) falling prices

cumentls eumLiLy eresmm) Qemdeemid.
A)  2Mwderenn
(B)  Csemeu aipss
(C)  ghmwd s GruT®
D)  Meve aipss
7
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24, The communication from worker to management or administration is
(A) sideward communication (B) upward communication

(C)  downward communication (D) grapevine

QamleometudlL8lmHs Blireursssn@ CeuouBib sseue uflbrHmid eremig)

A)  ussar () Hs6UD (B) CuwaCprad sseue

(C)  EpCGprsdl sseue (D) Soriewg CarlL gseue
25. Communication does not involve

(A)  single way process (B) two way process

(C)  continuous process (D) wunderstanding process

S&eua LIflrHmDd eTeng 2 6Tem_sdlwig) Sjcben?

A)  @m e Qawed B)  @m e Qgwe
(C) QariQewed (D) yfge
26. Basis for departmentation is
(A)  functions (B) persons/staff
(C) site (D) burden
glenn Wflounssid ergerig LienL_ulle > _GTemg).
A Qeweur®sdr (B) wefgeuerd
© @b D) &ew

27. A good policy should be .
(A)  vogue (B) clear

(C) ambiguous (D) 1llogical

Q@ Slpbs srerans @m&s Couam(Hid.

Q)  Gsefleunm (B) Qgefleurs

©)  ewiusgie D) Ggppilewng

28. Working capital is used for .
(A) Land and Buildings (B) Plant and Machinery

(C)  Furniture (D) Purchase of Raw material

BEDL_(PENM PLHGSETLD TSN LILIGTL (HID
(A)  Hleobd wHMID HLigL ib B) Qubdlr sereur_miser
©C)  ipsasar D)  epelCurmer Qamearpsea
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29.

30.

31.

32.

Which is not a repeated use plan?

(A)  programme (B) policy

(C)  procedure (D) planning
Qauples erg) mipenn LweTUT(H SAHDE)?

@A)  Hapey B) OQsrérms
(C)  mevL(penm (D) Hirdie

Decision to Manufacture more than one product is
(A)  product mix

(B) manufacturing place

(C) dimension

D) branding

am&HE@D Copul L Qur@lsamer 2 HLSEH Qeiw (pgGleu@Briug
@A) 2husd seweaeu B) 2pusd smLid
(C)  jeraysar D)  srb wsEsD

The ESI contribution ceiling wage limit is Rs.

A) 10,000 (B) 7,000

(C) 15,000 (D) 21,000
Qamdlemert FL(HAmS S LSSl Lwentum iflsL’ s sardlu euribL em.
(A) 10,000 (B) 7,000

(C) 15,000 (D) 21,000

1s a financial plan of business.
(A)  procedure

(B)  planning

(C)  budget

(D)  training

auanflagdler Bl culqeuaoLiL] eTerLig)
@A)  Qewepann

B) e

(C) Hiodsems

D) uvhps

A GLD.
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33. The act that assure everything has been compiled with as planned is

(A)  decision (B) pricing

(C)  control (D) staffing

eTHF QEwied epeold L O L Lilg Sjeneandg) QFwucsameTu|b (g6 Tl L Li(Hib?
A)  Siey (B) &lene [blremruid

©) s @Guur® (D)  wefgeuerd

34. The act of employer leading to loss of job by the employee is
(A)  super annuation retirement (B) retrenchment
(C)  voluntary retirement (D) compulsory retirement

wpsematiuder Hgwaeme, Ggmlemet Couame a4 (H GlFaa Crireug)

A)  euwg ey gulay B) Ceame Qe () Sléseand
(C)  efmlu gwiey D)  slimw guiey
35. Training is the process of imparting .
(A)  ethics (B) utilisation
(C)  knowledge of job (D) change
LUADA LI eLpavLd 6p(HEU(HEE gHUBHDG.
@A)  Apdaperpser B)  vwerur®
©€)  uenfl ey (D) oD
36. Bill discounting is a source of finance.
(A) Mid term (B) Short term
(C) Long term (D) Perinial
UL 1q W6 SeT(@rpLilg auand gl gD
A)  BOSST ST B)  E»vHS sTEOLD
(C)  BeawrL smeoid D) Hrbsrbd
317. is the outcome of the transformation process undertaken by employing
various resource together.
(A) goal (B) planning
(C)  production (D) objective
eramig) QaEm(H&sLul(Herer alarantogeane mHbl CFWOLHSHIeIS 4 @ELD.
Q) Qese B) Hlde
C)  2pusd (D) Crrésbd
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38.

39.

40.

Which is very essential in the course of business decision making?
(A)  sales forecasting

(B) demand forecasting

(C)  control of business

(D) inventory control

auanfls Siey er(iLed Wseyd (Wp&Hw LikiE eudllig) erg)?

A)  ehueer upegenflliy (B) Gseeu perganflliL
(©C)  euanlla s_(HLum® D)  g15@ s_UuTh

Revenue obtained per unit of output sold is termed as

(A) Marginal revenue
(B) Marginal cost
(C)  Average revenue

(D)  Total revenue

Q@ D@ 2-HUGH QummeT ellHugmed P L auheuTl eTeTLIg)
A)  efaflby eumeum

B) &Nefliby QFevay

(C)  ayref eumeumi

(D) Qs eumeum

The pricing method that uses one product with various class distinctions is

(A)  dual pricing

(B)  product line pricing

(C)  transfer pricing

(D)  psychological pricing

@Cr CummErsE uoeams Ceaumurlel Csrhsg edeame BHliiarub Gelujb

A) @meu ellena HlrewTuwid
B)  swrilly euens HlmwemTwibd
(C)  uflwrdo e eflene BT

D)  2emeflwed ellena Fliewrwid
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ROUGH WORK
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